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Two m»sn, onethat isbehind the other, the outer one opensto
the »an, and the inner one opens to the outer one, and the

resdents of the inner have the right to walk through the outer. If
the inner axn made an 2yvy for itself (meaning its own

members), but not with the outer vxn, or each 9xn only made an
1y for itsdf, and someone in the outer vxn forgot to join in the
1y, theinner axn is permitted to carry (init’sa8n), and the
outer axn is forbidden to carry. If only the outer 98n made an
2y, and not the inner, or each 28N made an 2y»y but someone
In the inner axn forgot to join in the 2y »y, then both are mwox to
carry, since the residents of the inner 4xn have the right to walk
through the outer ~xn, they are considered as residents, and must
be included in the ay»y. If both made a separate 2yv»y, each may
carry in their own asn.

If both the inner and outer 2x8n each have only one person living

there, or the outer has two and the inner one, they do not need to
joinin an ayvy.

The foot of a person that isammn in his own 980, does not Yox
others, but the foot of a person who isox in hisown placeis
qox others by virtue of his having lost hisright of walking.

If there isan inner 28N and an outer 98N, and the inner 2N uses
the outer axn to reach the »an, if both m 3N made one 21y,
and the 2y»y was placed in the outer 9xn, and one person (in
either 13n) forgot to join in the 2yvyy, he forbids the residents of



both my»sn from carrying, until the person who forgot to joinin
the 2y»y isHvan hismwA. If the 2y»y was placed in the inner
qxn, if the person who forgot to join in the 2y»y lived in the
Inner 1N, then both myxn are mox. If the person who forgot
lived in the outer axn, then only the residents of the outer vxn
are "oN.

If thereisan inner 93n and an outer 98N, and the inner 93n has
two residents, and the outer one resident, they can “ox the one
person in the outer axn if they do not make an 2ywy.

If there isan inner 9¥n and an outer 1¥n, and thereis an >Mrx
living with aox9v in the inner a¥n and there isabxaw in the
outer 98N, or vice versa, or even an»'x in the inner and two
YN In the outer, the >N is 90w them from carrying (unless, of
course, they rent out space from him). The 9ann brings a v
01X Who says even if thereis one>'~x in the inner and one
N9 1N the outer, the " forbids the Yxavw (although one or
severa »"'N do not Hox one Yxaw, hereis different, because even
though itisone>'n, heisin a-sn).

If there are ten housesin arow in a2xn, and only the outer one
opens directly into the vxn, if these houses wish to join with
other houses in the m~ynlhy»y, only the two innermost houses
need to contribute to the 2y»y, asthe other houses are

considered as entranceways that do not need to contribute to the
1Y,

If there are three houses between two msn, with each axn



opening to one house, and one house in the middle, if the
members of each qxn walk through the house next to their

respective 2x8n to make the 2y»y and place it in the middle home,
the 2y»y is good, and none of the three houses need to joinin the
1y, The houses next to the vxn do not need to contribute as

they are considered as entranceways, and the middle house does
not need to contribute as that is where the 2y»y is placed (thus

exempting it from joining).



